50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

15ECS2

ﬁlter to the mput sequence x(n) = {T

USN
Time:
1 a
b.
2 a.
b.
c.
3 a
b.
4 a
b.
5 a.
b.
6 a.
b.

3 hrs.

Fifth Semester B.E. Degree Exammaﬁon, J une/July 2019
Digital Signal Processmg

Max. Marks: 80

(10 Marks)

Using linearity property find the DFT of the sequence ﬁy}(n) = cos(%l] + sin(gn) consider

(06 Marks)

(04 Marks)
(04 Marks)

Derive, ‘theiexpression for the relati{%g;hlp of DFT with Z »
), € y f
~ Module-2 ~” Y
State and prove the followmg propemes e
i) Circular correlation . W‘é
i) Parseval S theore111%5@1"“v‘*’@@%&‘%‘ig

(06 marks)
{3 2 I, 1}. If the input is

rrrrrrr

(10 Marks)

J or
in‘the lmear filtering Og% I@“m@b data sequencew%k overlap-add method. (08 marks)

v W/
Iter has the 1mpulse fesponse of } h(n)= {% 2 3} Determine the response of the

2§ use DFT and IDFT and verify the result using

dlreet computatxog Qf lmear convolutlon (08 Marks)
Develop DIT&FFT algorithm and obtain the signal flow diagram for N = 8. (08 Marks)
Determine the IDFT of}{(K) ={4,1-j2.414, 0, 1 —j0.414, 0, 1 + j0.414, 0, 1 + j2.414}
using inverse — radix 2”DIW”’"— FFT algorithm. (08 Marks)

. ¢ OR

Define chirp Z—tra:nsform What are the applications of chirp—Z transform. (04 Marks)
The DFT of the followmg sequence using DIF — FFT algorithm
xi(n) = {1, 1,1, 0, 0, 1, 1, 1} (ii) using the results in (i) Find DFT of signal

Xao(n) = {1,,1 1,1,1,0,0, 1} consider N = 8. (12 Marks)
; 1of2
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_Explain the following terms :

C ~ 15EC52

Module-4 N
Obtain the direct form I, direct form II, cascadefﬁhd parallel form realization for the
following system. y(n) = 0.75y(n— 1) — 0. 125y(n _9)%F 6x(n) + 7x(n— 1) + x(n - 2).

(08 Marks)
Realize the system given by the difference eqp@;%gpn :
y(n) =-0.1y(n — 1) + 0.72y(n — 2) + 0.7x(n) — 0.252 x(n — 2)
Use parallel form. Is this system stable?"Determine its impulse resp_qns; 4 (08 Marks)

— H(z) — D/A structure will
(10 Marks)

ii) stopband attenuation‘of35dB or greater at 10007
iii) monotonic stop band and pass band

iv) sampling rate of 2000 samples/sec /
Obtain H(z) usmg Impulse invariance method for the following analog filter SHz sampling

2 fﬂw
frequenc H S —_— 06 Mark
R ( } S+D)s+2) ax..m‘g_; (06 Marks)

(06 Marks)
N, 065 K'a = —0.34,

(10 Marks)

(10 Marks)

1),, Hamming wmdow

G
-

(06 Marks)

* % ok ok ok
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